+
T %

R e L e S

B g4 5 (R)

38 =X He o 38 P £ %p
| MRS 2000 =~
2 | P AF - HF 3000 ~
3 R+ 2BL-B2-Gl 2 G2 % 47%) 3000 ~
4 TEBGE 4 S &) = 38 500 ~

,i?;g(j%é\, ME-"HIEKE L "B FEE _
5 50§ SRR AT) 3500
FR B A ;\F‘(m#—é B BAEH ~ B F eRer s
6 R 2 T N E ek s B AT ek BR 3500 ~
% 73:)
e REEN (R F - SeREE - F z Rk
% % ¥ v ki - 4-epimer-tetracycline » _
7 . . 3500 ~
4-epimer-oxytetracycline ~
4-epimer—-chlortetracycline % 7 78 )
E%#Fist % (clarithromycin > =& % ~
josamycin ~ # 2 &% ~ natamycin »
g neospiramycin I ~ &% ~ ¢ #% 1~ 9500 =
tilmicosin~ % # % ~ ¥k % ~ cefoperazone -
mecillinam ~ clindamycin ~ &7 #& 2 ~
orbifloxacin % 16 1)
9 BExng(Hin]) 7500 ~
10 | 8&(¢ #)B4hed Z(H3L2) 7500 ~
11 | =5z 1200 =~
19 RR(F? pE~ 2 :ifﬁﬁi‘é’}iﬁﬁﬁi‘%i“"f 9900 =

PRk kIRE 5 )




Fﬁ)j;iﬁ?'l(ﬁ s S fsz" ﬁl iz F o fr,,b ﬁq .
13 av: ) ;V:Jﬂ K ﬁﬂ f&;ﬂ g:l% fig > f&—’ ;r: 2900 %
£73%)
14 |e=p 1000 =
15 |2 @8 *SEFH *SEAE 3700 =
16 |2 Fsc~ ~ % HE 2200 =~
17T |25 #EF 2 FE R 2700 ~
18 | =g~ 4 ek - SOk 3500 =
19 | &% FF0E - WA ERR 3000 =~
21 |mavpm 1500 =
22 | ¢ % 2000 ~
23 |#F & 300 =
=

1‘*%5%155 % 9 imieskiE B
i3

\—H \\\?{y

g F % 1031900615 5= i3

ff"\’f"?" (7)) | 2—32 %=

2 AP % 105 F ok %kIE P SRS %ﬁ‘f

»
1\1.

2 7 17T pigrz Te 2z §g° Bbea &

F’@f%"‘i%‘f‘”’5103ﬁ7 3 p IRy
- "”‘Ji‘q

ﬂ ’}’ﬁ%"é-?if&

RS "”&%#ﬂ’gl‘”%‘l% &
Z Wk E | F—



